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1. A segment of a polygon that joins two
nonconsecutive vertices is called a
?
.
Ⓐ transversal
Ⓑ diagonal
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Ⓒ hypotenuse
Ⓓ geometric mean
2. What is the sum
of the measures of
the interior angles
of the figure shown?
Ⓐ 900°
Ⓑ 1260°
Ⓒ 720°
Ⓓ 1080°
3. Which is not true of a parallelogram?
Ⓐ Opposite angles are congruent.
Ⓑ Consecutive angles are complementary.
Ⓒ Opposite sides are congruent.
Ⓓ Diagonals bisect each other.
4. Which statement about kites is false?

Ⓐ A kite’s diagonals are perpendicular.

Ⓑ A kite’s opposite sides are congruent.
Ⓒ A kite has two pairs of consecutive
congruent sides.

Ⓓ A kite has exactly one pair of opposite
angles that are congruent.
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5. Find the length of the
midsegment of the
trapezoid shown.

Ⓐ 21
Ⓑ 19
Ⓒ 20
Ⓓ 22



6. Which statement would

not prove that ABCD is
a parallelogram?
Ⓐ 
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Ⓑ 
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7. Which statement is false?
Ⓐ A parallelogram is a rectangle if and only
if its diagonals are congruent.
Ⓑ A parallelogram is a rhombus if and only
if its diagonals are congruent.
Ⓒ A quadrilateral is a square if and only if it
is a rhombus and a rectangle.
Ⓓ A quadrilateral is a rectangle if and only if
it has four right angles.
8. A quadrilateral with exactly one pair of
parallel sides is a
?
.
Ⓐ rhombus
Ⓑ parallelogram
Ⓒ trapezoid
Ⓓ square
9. Which statement about isosceles trapezoids
is false?
Ⓐ The base segments are congruent.
Ⓑ It has a pair of congruent base angles.
Ⓒ Its diagonals are congruent.
Ⓓ Each pair of base angles is congruent.
10. WXYZ is a kite.
Find m
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Ⓐ 160°
Ⓑ 200°
Ⓒ 95°
Ⓓ 100°
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